oooog A0 1

gobboooobobbuoooobbouoooobbooooobo

gboooo obobooboob b

1 OO0

OO000000000ODOO00O0OOO00DOoOo0O0OOSmartLab0 00O O0OODOOODOOOO
gbogooboobooooboooboobo 1bgobboobooboobooooobboooDbo
00 ccbooboOoboOoooOfooooobDOobDOobooOooUobOUOobOUOobDOobObOOobOobOoboUoOoo
¢ =100pmbO0000000ODOOOOODOOOODOOOODODOOOOODOOOODOOD
goboobooboboooboooooobobooboooobobbouobobooooboooo

uvESERIE

JUA—E—HER

N N R

50 pm~1 mm

CBO-f

400 pm

CBO-p

100 pm

BERODT 5 —HRDNERE

01 00000000C0C00000000O0SmartLab000O0O00COCOOO XRDOO

gobooogoboooooooboooobobooboboboobobboooooboooboooo
gboboboobooooooobob 100pemb0bobooooobobobooboobobuonDo
gobooooobooooboooboboobbooooooobooboboobbooboooboobobooboo
ooood

2 0000
21 J0O0O0O0OOOOOOOOOOObObOOD

100um OO OO
ooooooooo
ooooooooo
ooooooogog
ooooooooo
ooooooo zZo
ooooooooo
oo0o0ooooood
OOOFBOOOO
oo0ooooogo
0000000 (0 20000000000000D0 ZOO0O0OOUDOUODODOOOOOOODOOOOO
000000000000 0oooDoooo0oooo00oDoo0ooooo0oo0onooo0ooooo
0000000Z0000000000000000000000000000DO000O00000
0o00000o0ooOoD0o0oo0ooooOobO0ooDoo0bOobOo CccbooopooOoooooo

Doooooooo

00 30mmO 00
» 0000000006~ 40um0 0
ccpoooooooo

IkOOO00000)

02 000ogbogoooooooooooo TeMbooooooo



OO00oO00oOo0o0oooOoooOobDOoXRDOODOOOOOOOOODODODODODOODOOODOOODO
000 30° ODO00O0oO0U0O0OoOoooDOoOoOOoU0OU0OooDoO CccbooooUooooooo

22 OO0 XRDOOoOooooO 0ooooooog
=

000000000000000000000000000SmartLab
0 CBO+ CBO-f000D00O0DONDN0ONDNONONDNONONOONDNONODO
00100um000000000000000000000000XRD O
00000000000000000000000¢=3.0mm00000
000 500um00000000 300CBO + CBO-f00O0DO0D0D \
000000000000000000000000000 TEMOO e
0000000000000000000000000 TEMOOODO
D0000D00000000000000000000000Cu(11l) O3 00000000
00000000000000000000000000 00000000000

goood

3 00000
31 0DO00O0000ODODOOOO
040000 ZOO -1.00mm OO0 +1.00mm O0000000000O0COCOO CCDOOOOO

oooooooooccbooooOooOoooooOoUoOoOooooOoOooooobooOooooOoOoo
gbobooooboooboobobob

-1.00mm -0.75mm -0.50mm -0.25mm ogoono +0.25mm  +0.50mm +0.75mm +1.00mm
04 000000000000 ZODOOOOODOOO Cccbooo

ooO0s0 FIBOOO ZO0O0OODOODOOOOOOOOODODOOOOOOO0DOOODODOOOO
Oooo ccboouooo

og 80 °
Titoooo
gooooo
+0.25mm(Z)
Titoooo
oooooo
Tk 000D |
000000 e
-0.25mm(Z) !
|

O5 FIBOOOOODO ZzOOOOOOUODOOOOODODOODOODOOODODOOODOOOODO
ooooOoo ccbogTitoooooooooooooOooooooooooooooooo

40°

CCboOoOO TitOODODOOOOOODOODOTIkKOODDOOOOODODD CCDOOOO



goooooooooooZoonD Tikbobobooboooooooooosbo0 +£0.25mmib 0
OO0TitOoOooOOOoDoOoOOoOooOOoooccboooooooDoOoOoDoboOoOoDOoOoOoD zoOoO Tik
ooooobooboooooobooouooboooobboooobbobbzObOUOobDOOUOoDOO
ooooos00000DOoOTIkOOO00ODOOODODO ccbOoOopDbooOoboobbbooboOo zoo
ugbobooboobooboboobooo

3.2 000 XRD OO

000000000000
0000000000000
000CBO + CBO-fO OO
0000000000000
0000000000000
0000000000000
0000000000000
00000 Cu(200) OO0
020=50.4 deg. 0000000
0000000060000
CBO + CBO-f 00000
0000000000000
000000 40°00000 A S —
0300000000000 stage X / mm

ooooooooooooo
00000 Cu(200) 0000 O6 TEMOODOOOODOOOOOOODOOOOOOOO0OO

O CuODOD0DDO0ODO 3.0mm 00000000 Cu(200000000

ooooooooooooo
gboboooboobooooobobob

goooog oopmOoooooooobooboboboboogbobobobobobobooon
gobooooooobobogooobooboooobobobobooooboooooobboobooo
o000 100pmO0OODOOCOOOOO0OOODODOCOOOOOOOOODODODOD GuOOoOoOoo
0000000000000 Cu(2000 0000 Cu(lll))D00DO0O0DOOUOODDOUOOOOOO
gbobooboboboboobo

Cu(200) .
20=50.47 degree

10mm slit, D/teX
2mm slit, D/teX 1
2mm slit, SC.

50000 —

Intensity / cps

. TEM—mesh ¢=3.0mm

gooboo oo oog



